Assign med #= 5

8@5&»; 3 '

L. b
'?(xc) = j([;

PiU4:CLéaQQ204%gK__o.maq3Qq4@
P( (r.4) = 0. 321448525

Polx)= ~3[8 350 3&735\--&:14‘-‘1‘68164:5’4?2)( _ 4. 498845640

P (:4) = O eLET4Y 644

2x

Q-QL ‘ﬁ(%); e X

P (xy= 39 N9SPIFE3 X - 31,92 4FFE33
i

p () = 16.06FS 34663

. 7€ &
Pawy = o4 26 - £S 344Y (L. dubad E¢r » - FEH0966

P, L&)z €. 26976332
P,
C‘ﬁf?_.)a--f;_,_ \[{.g - 39’5

24 | o~
Ggys (keod 38 —— = 3
> a

Po
f ﬁ«.u- —
Bt o3y .32 _ \3.695

Po gz &8 = L‘;‘;ﬁll/ 5. 67
r) . 3

PIB—

e



3.4 16

. * ‘.1 * 3
Sx) =8 (x)= A R i GED *—41 (X -x{)

b, & o @ A

—-_-—-——-—-—-_' .
o 0.64°
L,F‘o-lf Lol

)

J‘ cidy . 0.6321265
]

” L e o 60453
0. ¢) =o°- (o2 343 Pas)= ~0- 60 C30F
365 = 0. FooRTH 72(”)‘ 8.666%5 30%F.

q.- 16
f('s) = '/,}U?tq) _ )9(2,)}: 0. 2120
wt}‘,\, 2 M “"‘""’[

(3) 2
max {)Q (x] [ g < 4
ff,‘_,\\r g ~ —z =




4 |
ORIV N S S A A O

replace A éd ,ﬂ\/3
{
A 9
M= “(Q‘/j) + k& 'of-*d[ + Ky @?}) + bes (%) - @

4"- - € (( ~&o
Q@) -1 = W () - P By (-8) callg (50).

Me 4 (L 5) _:fg__N(E») AN N 9«4@3(.%),_-

e e

£, b
‘f ()k - _3
ot M= M (k) ..’é.ﬂn k, - & 3ﬁ &
Vi
~ Th
f’epiaa Lo wdb Y

§
N 0 'L
M = & N, (’z‘/g) - -qLJL -)‘C/B) bk, "'-l?““ s (’ /j’) @

. - g K
5§ - = 81 nachy) - MR DL i

(o

6
- tok, E%?-J

¢4
| R
o(pf) M- e () - g, Ny (1) e

3

NEYEN



¢)
G F+30) = f0) +?/(H (34.) = ‘/6L i?%(Z,)(Sﬁ)m
G Sty = R Py « b FEN)

‘ (2 2 2 2
0-& - £ ey 30 1 ) (2) 4 b (§ '(¢) 40 P (g,)8)

ap $10 a7 @) - (€)

Q)
@)
‘1% $ txa3h --19()‘—9"”) - l/'o"(q

Y er P(x) - ‘/LL [ f—(y- <) '-Fhﬁ)}
2

’ “ce) ()
L(x<20) = ?(%)kg(#)(lﬁﬂ)*%_e (¢)

: v ra
e - W ooty - F0)) - TG

L BCE)

Lol ¥ermg

) - g,m [i(uz,@\,fz(t)}

f(o)~/ [:HUA ﬁ(o,J

o dom L FC f;)

S e ———



ao’boWWUL

m'“”"i-j o po
Hhe
uso Qq.lu\;h‘"" ¢ afe.

O ot F - ,UC*H“ qemw& Pe)

(- (57—*«"8

© Plv-n) ) = - Lf/&)ﬂLﬂ__;:PWU) - ,?;__ £ ({_7_)
3



-ASSL \ 9Y\Mﬂg

Q-we'\s.m =219 4 R-0,4

Tb\M Lo+A= Q.29
Apt2h 2R 39 @
P(a--],\ ':Q\.DC,
ﬂ’\ﬁ(@ - %)U_WJV Wi
Pln )z L [Flaen ~£Gb)] )
2%

o 9') 7 Ly [FRRT e lre) - pla g

We  Com M )E){Wj’) f Wi Ve, 4 (B) a4
$ wolwote () 4@ ™ |
(B £'(214) =13.493¢
@ - £'(219) = 14.0937

Fow £- 0.0 9 Mta
Ay h =22 A2l 221 4 A —A=2.18

0 (D s ;@L&m)ﬂ 4. 008"
o) S £'(2a) > §.030€



2,

'?(?Q > 2769/%‘3&-Q’{C05(
\ o : € 1 1 .
PHx) = 428 A42x lon — & (o e 5
[} . &
¢ (ﬂ :A(QW\(K)+—%2tfu39(,-7_'z(1%\9(_+22:[9’1m%-
oo 0 (209) 2 - 0. 16972

We  wan Tag\w /%%M’WCJ b Atew Ao

2" (%o ) _\\,Tr_’f' (W) 2L (2) +F I’{o«—b\)]
)
e o0 @ v
(. 1) L?(z 09) - 2 f (2.9) £ 7—2@

-~ - 0.1600
The Yolofiot 2wy 4 \ 0.169F 2 440 <00 w
—0.4batr
- E.Og:fo‘{, /O
’?W ‘Q\:0.0‘ ,
0“(g.4q): -

T Yolour A kﬁO’\Wr%@\: %1=s¢qc[/zz
—0.0(4% 1



&U\,Q/J\nmv) A Y Lk &J-Q “%‘GB‘\A(M AoALP -



